[ )
O
SDM-Trade

LF

IR i 3 e
@
a0 I P | - | [l L st12008
|-—] - 40 ne
.H |L|"" : _+- 1 4
25 [ 1% i 18 ”I OUTPUT
200 | 25 | ™
LD 270
LF 20
m L o 160
19.5 23 l 120 17
5 |, 70, S T
|| = o 2
o P—— —_ | I | N I LA | I S A QXY -
"# I 4y -5 &/ U
_— | 2
| } \ L .
80 LD J 45=
|120
185
LF
Lgs |
| = Tt cC51U
- 11 i o D1|(p2|D3|G|T|S
S S T e
| e FA |180|215|250[14| 4 [13
H FB [230[265(300(14] 4 | 16
80 LD
M...FD
M_FA M...FD M...FA
1| |Aac|wH|H | L |b|AD|@|LF|[@m|R|AD| R |AD
C5123 [S1 [m1 138 [ 224 | 221 [5175] — [ 108 | 49 [5785] 52 [ 103 | 135 | 124 [ 108
C5123 |S2 |M2S | 156 | 233 | 230 |5455|2525| 119 | 53 |6165| 57 | 129 | 146 | 134 | 119
C5123 |S3 |M3S | 195 |252.5(2405|5805|267.5| 142 | 58 |6855| 65 | 160 | 158 | 160 | 142
C5123 |S3 |M3L | 195 [2525(2495(6215(|2675| 142 | 65 [7125] 72 | 160 | 158 | 160 | 142
C5123 [S4 |m4 258 | 284 | 281 |7295] — [ 193 | 99 [8385] 117 [ 226 | 210 | 217 [ 193
C512/3 |S4 |M4LC | 258 | 284 | 281 |7645| — | 193 | 107 |8635]| 125 | 226 | 210 | 217 | 193
C512/3 |S5 |M5S | 310 | 310 | 307 | 816 | — | 245 | 127 | 956 | 157 | 266 | 245 | 247 | 245
C512/3 |S5 |M5L | 310 | 310 | 307 | 860 | — | 245 | 143 | 1000 | 173 | 266 | 245 | 247 | 245
C514 [S1_[mi 138 | 224 | 221 | 589 | — | 108 | 52 | 650 | 55 | 103 | 135 | 124 | 108
cs514 [s2 [m2s | 156 [ 233 [ 230 [617 | — [ 119 | 56 [688 | 60 | 120 | 146 [ 134 | 119
C514 |S3 |M3S | 195 |2525|2495| 661 | — | 142 | 61 | 757 | 68 | 160 | 158 | 160 | 142
C514 |S3 |M3L | 195 |2525|2495| 693 | — | 142 | 68 | 784 | 75 | 160 | 158 | 160 | 142
C514 |S4 |M4 258 | 284 | 281 | 801 | — | 193 | 98 | 910 | 111 | 226 | 210 | 217 | 193
C514 |S4 |M4LC | 258 | 284 | 281 | 836 | — | 193 | 112 | 935 | 125 | 226 | 210 | 217 | 193




40

70

1

278

1

40 he

25 '|'_ 156 __1' |J|_ N3 i ‘| OUTPUT
200 &
LD
154
R A P63y
L R ~
TQ_i — M2 =2
w g R K iy
3#:._-_..:,!‘__-_-— 1 é = —@- ¢ " ,’q ]' .
_q' 1 = | A & [t ah ‘Y
| B ¢
i NP )
8o -
. | M E7
N2
N1
- P - INPUT
T .. §
ur [l s
70 — c 51_u
& \
31:_-_ 4] i alsl S R — p2[D3[G[T
_ / ™ FA 215|250(14( 4 |13
S " FB |230[265(300/14] 4 |16
e Wlws
. w ]

«]] | b | ™ M2 N2 N4 P | &
C51 213 |P63 252.5 11 4 95 M8x19 4 362.5 45
C51 213 |P71 252.5 14 5 110 M8x16 4.5 | 3625 45
C 51 2/3 | P80 2675 19 6 130 M10x12 4 382 47
C512/3 |P90 267.5 24 8 130 M10x12 4 382 47
C512/3 |P100 252.5 28 8 180 M12x16 | 4.5 392 51
C512/3 |P112 2525 28 8 180 M12x16 | 4.5 392 51
C512/3 |P132 252.5 38 10 230 14 5 428.5 54
C512/3 |P160 — 42 12 250 18 55 479 58
C512/3 |P180 — 48 14 250 18 5.5 479 58
C514 |P63 — 1 4 95 M8x19 4 434 47
C514 P71 — 14 5 110 M8x16 45 434 47
C514 |P8BO — 19 6 130 M10x12 4 453.5 | 49
C514 |P% — 24 8 130 M10x12 | 4 463.5 | 49
C514 |P100 — 28 8 180 M12x16 | 45 |463.5 53
C514 |P112 — 28 8 180 M12x16 | 45 |463.5 53
C514 |P132 — 38 10 230 14 5 500 62




C 51...SK / SC

40

278

gl [ s Zh
--IP_-_ ‘ -.-P !3- § = @ N ﬂ
H ok = 2 ¢, o
I R % L o S ™
! | 8
} N2 | < N
1 4 - y
I |t ..__5_~* 133
i 120
1 SK...
P !
m o= c
Ao N
5 o ETaty AT i
' =l el [ Y
SRS Limin esiu ) 52 (@) ).
D1|D2|D3|G|T|S X ! / 3“‘
: FA [180(215|250(14| 4 [13| ‘1 il—=o= -
.. FB [230(265(|300(14| 4 |16 185
P -
i D M | M1 | M2]| N | NT | N2 N4 X oi3x (| 4x f<
C512/3 |SK80B | 120 | 14 | 163 | 5 | 96 | 100 | 80 | Méx12 | 4 382 — 46/46
C512/3/14 |[SK8OC | 120 | 19 | 218 | 6 | 96 | 100 | 80 | M6x12 | 4 382 | 453.5 | 47/47/49
C512/3/4 |[SK95A | 130 | 14 | 163 | 5 | 102 | 115 | 95 | M8x12 | 4 382 | 453.5 | 46/46/48
C512/3/4 |SK958 | 130 | 19 | 218 | 6 | 102 | 115 | 95 | M8x12 | 4 382 | 4535 | 47/47/49
C512/3/4 |[SK95C | 130 | 24 | 273 | 8 | 102 | 115 | 95 | Méx12 | 4 382 | 4535 | 47/47/49
C 512/3/4 |[SK110A | 150 | 19 | 218 | 6 | 120 | 130 | 110 | M8x12 | & 382 | 453.5 | 47/47/51
C 512/3/4 |[SK110B | 150 | 24 | 273 | 8 | 120 | 130 | 110 | M8x12 | & 382 | 453.5 | 47/47/51
C 512/3/4 |[SK130A | 188 | 24 | 273 | 8 | 142 | 165 | 130 |M10x20| & 382 | 453.5 | 49/49/52
C512/3 |SK130B | 189 | 32 | 353 | 10 | 160 | 165 | 130 |M10x20| 5 | 4285 | — 56/55
C512/3 |SK180A | 240 | 32 | 353 | 10 | 192 | 215 | 180 |M12x18] &5 | 4285 | — 55/55
C512/3 |SK180B | 240 | 38 | 413 | 10 | 192 | 215 | 180 |M12x19]| & | 4285 | — 55/55
P P -
d i @ M| DE|F G| M|NININ2| N& | X|pn ohlax Oy B
C512/3 |SC80B | M6 15Nm|120|155/14.517.75| 14 | 96 |100| 80 | M6x12 | 4 | 4055 | — | a7/t
C 51 2/3/4 |SC80C | M6 15Nm| 12015514 5/17.75| 19 | 96 |100| 80 | M6x12 | 4 | 4055 | 477 | 48/48/50
C 512/3/4 |[SC95A | M6 15Nm| 130 [16.5] 15 |17.75 14 102|115 | 95 | M8x16 | 4 | 4055 | 477 | 47/a7/49
C 512/3/4 |SC958 | M6 15Nm|130[18.5| 15 [17.75| 19 [102[115| 95 | M8x16 | 4 | 4055 | 477 | 48/a8/50
C 512/3/4 |SC95C | M6 15Nm|130 [18.5] 15 |17.75] 24 |[102|115| 95 | M8x16 | 4 | 4055 | 477 | 48/a8/50
C 512/3/4 |[SC110A | M6 15Nm|150[16.5] 16 [17.75] 19 [120[130[110| M8x16 | 5 | 4055 | 477 | 49/49/52
C 512/3/4 |SC110B | M6 15Nm|150 [16.5] 16 |17.75| 24 120|130 [110 | M8x16 | &5 | 4055 | 477 | 49/49/52
C 512/3/4 |SC130A | M6 15Nm|188| 19 | 16 |17.75| 24 |142|165|130 |[M10x20| 5 | 4055 | 477 | 50/50/53
C512/3 |SC130B | M8 36Nm|188| 20 | 17 |17.75] 32 | 160|165 |130 |[M10x20| 5 | 4515 | — | 54/54
C512/3 |SC180A | M8 36 Nm|240]| 20 [17.5/17.75| 32 [192|215[180|M12x24| 5 | 4555 | — | 54/54
C512/3 |SC180B | M8 36 Nm|240| 20 |17.5/17.75] 38 192|215 |180 [M12x24| &5 | 4555 | — | 54/54




C 51...HS

L :
80 B B
5 | 70 _|,F4 F3 e 12h9
W;J
= [ SRS E——— e -] o {-&-3-
- -
~ © M12x28
w L
- A0 he
e OUTPUT
200
A
Cu [rre—ra—
Fil ks
5 170 JL_ F2ns
J ]
34__ p— Y ._.m: - ol L4-
by 1w
| o
185 INPUT
A
ur [ C—
s LFa| F3
— i C51U
&
8|s| == === o D1|D2|D3|G|T|[S
s ~ FA [180[215[250[14] 4 [13
“ FB [230265(300(14| 4 [16
LN .

4] = A B E F F1 F2 F3 Fa4 v Jico)
C512 4515 | 322 50 24 24 8 25 45 | Mex19 | 45
C513 |HS 4515 | 322 50 24 24 8 25 45 | M8x19 [ 45
C514 484 | 364 40 19 | 215 8 25 35 | M6x16 | 48




